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WRITTEN QUESTION TO THE MINISTER FOR TREASURY AND RESOURCESBY
DEPUTY G.P. SOUTHERN OF ST. HELIER

ANSWER TO BE TABLED ON TUESDAY 1st JULY 2008

Question

1 On 3rd June 2008 the Minister gave examples of total tax cuts, in monetary terms, over the three years
2007, 2008 and 20009, resulting from increases in exemption limits, which included the figure of £374 for
a single person. Will he inform members whether this sum was the total tax reduction over the 3 year
period or the tax reduction in each of those years?

Answer

The £374 isthe total reduction in tax for the 3 years. The reduction, split between years, is £76 for the
2007 increase, £200 for the 2008 increase and £98 for the 2009 increase.

Question

2. Notwithstanding the impact of the increases in exemption limits, the Minister requested on 13th May
2008 in response to my question on average tax bills that | supply evidence for any calculation on GST
bills. Does the Minister accept that:

a) the Household Expenditure Survey (HES) 2004/5, conducted in September 2005, provides the best
evidence we have of spending patterns of, and hence GST bills on, Island residents?

b) The appropriate uprating for inflation from these figuresis of 7.4% to March 2008?

C) Using these uprated figures provides a sound method for the assessment of the impact of GST,
eliminating housing costs and other exempt items, on particular sectors of society?

d) Further, that the seven groups included in the analysisin Chapter 3 of HES are useful in measuring
theimpact of GST?

Answer

2(a)  Yes; but the primary purpose of the Household Expenditure Survey is to provide information on
household budgets as a basis for the calculation of the Retail Prices Index. It provides useful
information on spending patterns for households that can be used to estimate the impact of GST
on households. However any estimates prepared on this basis are subject to several caveats.

* An estimated adjustment must be made in respect of those expenditure lines that comprise a
mixture of taxable supplies and exempt supplies.
*  An estimated adjustment must be made to take into account those goods and services purchased
from suppliers that are not GST registered.
The HES is based on a statistical sample adjusted to represent a notional “typical” household.
*  Thesurvey was conducted in 2004/5 and spending patterns may have changed since that time.

In view of these caveats the estimation of the change in GST borne under different GST scenarios will, as
arule, be more accurate than the absolute figure for a household.

2(b)  No; the States Statistics Unit maintain detailed Retail Prices Index data. It would be preferable to



use their data rather than a single figure. The change in RPI between March 2005 (121.9) and March 2008
(134.5) is 10.3%.

2(c)  Yes; subject to the caveats noted above this method can be used to provide estimates.

2(d) Answer as above.
Question
3. Does he then accept my figure of around £950 as the annual tax raised by GST from the average

household in Jersey, according to the updated HES data above, and if not, what figure does he have?
Answer
No | do not accept the figure. Using detailed RPI indices and adjusting for the factors above the estimated
figure for an average household is £626.
Question

4, Will he also produce figures based on this HES data for the 6 groups featured in this survey, namely single
pensioners, pensioner couples, single parents, couples with and without children and single persons?

Answer

See spreadsheet attached.

Question

5. Will he also produce figures for the GST imposed on the lowest quintile (20%) of earners given in Chapter
2 of HES, and state whether it matches the £340 per annum of my calculations? Will he then examine the
additional sums allocated to compensate those on Income Support for the impact of GST and state
whether he can show that this compensation is adequate?

Answer

Using detailed RPI indices and adjusting for factors described above the estimated figure for the lowest
quintileis £271 rather than the figure quoted.

The average sum alocated to compensate those on income support for GST is £318 per annum, which is
more than the average cost of GST to households in the bottom quintile.
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